Nttt [ AAnAnAL

tie

KATTIP Vi fa¥alaa
IPDF WHtermali BIPMO: PYUENISE fionty Wty 22SDF.com to remove the watermarkld
54HC149
8 4k -8 £ 4E sk 4 i I8

74HC149
EBERE A5 | e HEF

— (81 L (11) 7om To[T
Sk :

I1 @) | w18y 0 I23]

I, L D arrh =

z . (16) 12 iy

]:Mg ] rf' Is|5]

Lo [~ 4[> U8 Ls T

) 2 g o (14) Id T3

(71 7 6-\(133 = PQE

I '\\E HKHE:IIE GND

I—I'r'—:l—l—"lr T T7
ThigH

L N L H

o | I | L | L | L|L|L|L|pgT| % |%|%|y|%| G| kP
X X | X | X|X|X|X|X|H|H| H|H|H|H|H|H|H]|H
H H|H|H|H|H|H|H|L|H| H|H|L|H|H|H|H]|H
X X | X|x|XxX|x|x|vr|vL|L|H|H|L|H|H|H|L]|L
X X | X|x|x|x|vL|H|L|L|H|H|H|H|H|L|H]|L
X X | X| x| X|L|H|H|L|H| H|H|H|H|L|H|H]|L
X X | X|x|L|H|H|H|L|L|H|H|H|L|H|H|H]|L
X X | X|L|H|H|H|H|L|H| H|H|L|H|H|H|H]|L
X X |L|H|H|H|H|H|L|L|H|L|H|H|H|H|H]|L
X L |H|H|H|H|H|H|L|H| L |H|H|H|H|H|H]|L
L H|H|H|H|H|H|H|L|L| H|H|H|H|H|H|H]|L



http://www.a-pdf.com/?wm-demo

KTTIC http://www.kttic.com

54 FR & w® # I #H % H
FEY LR VECatnaananannnnn, -0.5~+7.0V | HLYE R VG, 2V~6V
HNHLE Voo -1.5V~+Vee+l.5V | HIANHR Voo 0~Vee
R AV -0.5V~Veet0.5V | iR VO, 0~Vce
K N HLIR I CRESD) oo, +20mA | TAEFREIRE T, 54HC........ -55C~+125C
LR To(BFSf) ..o +25mA 744C......... -40°C~+85C
N § N il A]\H7 y J: ’ _F RH‘
LY L Iee(VecERGND #)+ 50mA sz” . j(T{EF Ik FRER Vee=2.0V. ..o < 1000ns
r,If
DFFEH Po* e 500mW Vee =45V < 500ns
it A7 45 Y [ Tseeneeneannnn, -65°C~+150°C Vee=6.0V............ <400ns
JE SN = | ==x 10
R B ( T ol 300°C
FHTL.

S FIOPo AR BERLF-12mW/°C (M 65°CE 85°C)
Wi 2 XU H1)-12mW/°C (M 100°C % 125°C)

Vee 53 BN {H
% K o & M W) 54/74HC 74HC 54HC AT
TA=25C Ta=4215 Ta=42
\ 2.0 1.5 1.5 1.5
Vi A s HAE LR
s (E?\T%r 4.5 3.15 3.15 3.15 v
w 6.0 42 42 42
2.0 03 0.3 03
Vi A R
n i gi?&j%r 45 0.9 0.9 0.9 v
i 6.0 12 12 12
N 2.0 1.9 1.9 1.9
=V
|I‘|<2“8 N ‘L 45 44 4.4 4.4 %
Vol | T T 6.0 5.9 5.9 5.9
(/™) V=V kv
* =VieskVin 45 3.98 3.84 3.7
IIo| <4.0mA
6.0 5.48 534 52 %
IIo| <5.2mA
Vv sy 2.0 0.1 0.1 0.1
= 5]
LR 4.5 0.1 0.1 0.1
o <20pA \%
N . 6.0 0.1 0.1 0.1
Vor i AR H P i s
€z V=V LY
* =iV 45 0.26 0.33 0.4
[To| <4.0mA AV
6.0 0.26 0.33 0.4
Ilo| <5.2mA
LA (KD | Vi=VecEiGND 6.0 +0.1 +1.0 +1.0 HA
I VYR ELR V=V GND
cc Eﬁf B 1=Vee 6.0 8.0 80 160 A
(KD Io=0pA




KTTIC http://www.kttic.com

FhASH (Tp=25°C. C_=15pF. t,=t;=6ns)

) o Vee Moe Al o
% £ oW & AL
V) 54/74HC
AHER I | T v
IPHL ﬂ?iﬁf;lj_fjlm v 5 32 ns
PLH w ORI )
tprr AL IR B[] — =
FOE _, 5 28
tpLH (RO : ¥ "
AHEIR T W
:PHL ﬂ:iﬁ(ﬁgiﬁ)ﬂﬁﬂ I ¥ 5 30 ns
PLH - A (Fl— At
HASH (CL=50pF. t=t;=6ns. BRIEHHIH)
Vce A i fi
I # Mt A1k W) 54/74HC 74HC S4HC | B
TA=25C Ta=2i | Ta=22i
- 2.0 175 218 260
A AR N ] -
:PHL ﬁ%iﬁ(ﬁgiiﬂ*ﬂ I, 45 35 44 53 ns
PLH Eid (17— AN D) 6.0 30 38 45
- 2.0 160 200 290
AL N -
IPHL ﬂ:’iﬁf;lj_fjlm I 45 32 40 48 ns
PLH . GNGEED) 6.0 27 34 40
2.0 155 190 230
AR N | — _
tpHL ﬁz:imﬁ;l_ﬁﬂm ROE_, 7 4.5 31 39 46 ns
tpLH S=IN,
6.0 26 33 30
‘ 2.0 75 95 110
trop FnH RN TE]
t G 45 15 19 22 ns
THL 6.0 13 16 19
Cop LOFEHLF
70 F
(HLAED '
Cr BN (RO 10 10 10 pF

%k e
T BN FEPL=Crp Vo> THec Ve
%ﬁ ﬁﬁ]%iﬂ %:E EEA?JﬁIs:CPD'Vcc'f+ICC



	IO
	I2
	I4
	I5
	I6
	I7




